' | e
F [=] Y AL
LI v Tomog (RIS Hom s BT
1|HSG8-60-Mi1.25 | 78 | 60 19 |KS68-154-U7x1. 25 [172 |154 97 |BSG8-250-N7x1. 25 | 268| 250
2|uscs-62-Minl. 25 | 80 | 62 50 |HS68-156-N7x1. 25 [174 |156 98 [rsc8-252-M7x1. 25 | 270 252
J|HSG8-64-Mn1,25 | 82 | 64 51 |HSG8-158-N72x1. 25 176 |158 99 | H568-254-M7x1. 25 | 272| 254
A 1|HSG8-66-Min1. 25 | 84 | 66 52 [Hscs-1804711. 25 |78 |1eo 100{ HiSC8-256-M7x1. 25 | 274| 256
§{HSG8-63-MIt. 26 | 86 | 68 53 |HSG8-162-W711.25 80 |162 101| HSG8-258-W7x1. 25 | 276] 258
§{HSG8-70-M11.25 | 88 | 70 54 [HSG8-164-7x1. 25 |182 |164 102{ HSG8-260-47x1. 25 | 278] 260
1|HSG8-72-M111. 25 | 90 | 72 55 |HSG8-166-W7x1. 25 181 |166 103| HSG8-262-}7x1. 25 | 280 262
8|HSG8-74-MT1.25 | 92 | 14 56 (HSG8-168-H7x1.25 |185 |168 104| HSG8-264-¥7x1. 25 | 282| 264
9|HSGB-76-M711.25 | 94 | 76 57 [HSG8-170-U7x1.25 [188 |170 105|HSG8-266-M7x1. 25 | 284| 266
10{HSG8-78-M711.25 | 96 | 78 58 |HSG8-172-M7x1.25 [190 [172 106| HSGS-268-NTxL. 25 | 286| 268
11{HSG68-80-M7:1.25 | 98 | 80 59 HSG8-174-U7xL. 25 192 |174 107|HSG8-270-N7xL1. 25 | 288 270
12|HSG8-82-M7x1, 25 | 100 82 60 | HSG8-176-U7x1. 25 |194 [176 _/|108]HisG8-272-NTxL. 25 | 290} 272
13|HSG8-84-M7x1. 25 | 102 84 61 |HSG8-178-H7xL. 25 [196 | 178 100| HSG8-274-N7x1. 25 | 292 274
14|HSG8-86-M7xL. 25 | 104 86 62 | HSG8-180-NTx1. 25 [198 | 180 110{HSG8-276-M7x1. 25 | 294] 276
- 15{sG8-88-M7xL. 25 | 106 88 63 |HSG8-182-M7x1. 25 [200 | 182 111|HSG8-278-M7x1. 25 | 296] 278
) 16{H5G8-90-M7xL 25 | 108] 90 64 | HSGS-184-M7x1. 25 |202 | 184 112|HSG8-280-U7x1.25 | 298| 280
B 17| HsG8-92-M7xL. 25 | 110] 92 65 |HSG8-186-M7x1. 25 |204 | 186 113| HSG8-282-47x1. 25 | 300| 282
18|H5G8-94-M7x1.25 | 112] 94 66 |HSG8-188-M7x1. 25 |206 | 188 114| HSG8-284-U7x1.25 | 302| 284
19|HS68-96-M7x1. 25 | 114 96 67 |HS68-190-7x1. 25 |208 [190 115|HSG8-286-U7x1. 25 | 304] 286
20| HSG8-98-M7x1. 25 | 116 98 68 |HS68-192-M7x1. 25 |210 |192 116{HS68-288-M7x1. 25 | 306] 288
21| HS68-100-M7x1. 25 | 118 100 69 |HSG8-194-7x1. 25 |212 |194 117|HS68-290-U7x1. 25 | 308 290
22| HSG8-102-M7x1, 25 | 120 102 70 |HS68-196-M7x1. 25 |214 | 196 118| HSG8-292-H7x1. 25 | 310 292
23|HSG8-104-M7x1. 25 | 122 | 104 71 |HSG8-198-M7x1. 25 |216 | 198 119|HS68-294-M7x1. 25 | 312| 294
24| HS68-106-M7x1. 25 | 124 ] 106 72 |HS68-200-N7x1. 25 [218 | 200 120/ HS68-296-W7x1. 25 | 314| 296
25| HS8-108-M7x1. 25 | 126 | 108 73 | HSG8-202-N7x1. 25 [220 | 202 121|HS68-298-W7x1. 25 | 316/ 298
26{ HSG8-110-7x1. 25 | 128 110 74| HSG8-204-M7x1. 25 [222 | 204 122{ HSG8-300-M7x1. 25 | 318 300
27| HS68-112-M7x1. 25 | 130 112 75 | HS68-206-M7x1. 25 [224 | 206 123{HSG8-302-M7x1. 25 | 320| 302
28 HSG8-114-M7x1. 25 | 132 114 T6 | HSG8-208-M7x1. 25 (226 | 208 124{HSG8-304-M7x1. 25 | 322 304
29| HSG8-116-M7x1. 25 | 134 116 17 {HS68-210-M7x1. 25- | 228 | 210 125(HSG8-306-47x1. 25 | 324| 206
g | ;.,A_‘)C 30] HS68-118-M7x1. 25 | 136 118 18 |HSG8-212-47x1. 25 |230 | 212 126| HSG8-308-H7xL. 25 | 326/ 308
o 31) Hs68-120-N7x1. 25 | 138 | 120 19 |HSC8-214-M7x1. 25 |232 | 214 127| HSG8-310-M7x1. 25 | 328| 310
3| HSG8-122-M7x1. 25 | 140 122 80 [HSG8-216-MTx1. 25 |234 | 216 128|HSG8-312-M7x1. 25 | 330/ 312
33| HSG8-124-M7x1. 25 | 142 124 81 | HSG8-218-N7x1. 25 |236 | 218 129|HSG8-314-M7x1. 25 | 332| 314
34| HSG8-126-M7x1. 25 | 144 | 126 82 [HSG8-220-M7x1. 25 |238 | 220 130 HSG8-316-M7x1. 25 | 334/ 316
35| HSG8-128-Tx 1. 25 | 146 | 128 83| HSG8-222-W7x1. 25 (240 | 222 131]HSG8-318-H7x1. 25 | 336 318
36 HSG8-130-H7x 1. 25 | 148 | 130 84 |HSG8-224-W7x1. 25 |242 | 224 132| HSG8-320-W7x1. 25 | 338 320
37| HSG8-132-M7x 1. 25 | 150 | 132 85 | HSG8-226-M7x1. 25 |244 | 226 133| HSG8~322-M7x1. 25 | 340] 322
38| HSG8-134-M7x 1. 25 | 152 | 134 86 | HSG8-228-N7x1. 25 |246 | 228 134| HSG8-32447x1. 25 | 342] 304
39| HSG8-136-M7x 1. 25 | 154 | 136 87 HSG8-230-M7x1. 25 248 | 230 135| HSG8-326-N7x1. 25 | 344 326
40|HSG8-137-M1x1. 25| 155 | 137 88 | HSG8-232-M7x1. 25 |250 | 232 136/ HS68-328-N7xL. 25 | 346 328
411HSGs-138-M7x1. 25 | 156 | 138 89 | HSG8-234-M7x1. 25 |2562 | 234 137|HSG8-330-H7xL. 25 | 3481 330
42|HSG8-140-M7x1. 25| 158 | 140 90 | HSG8-236-M7x1. 25 |254 | 236 138|HSG8-332-K7x1. 25 | 350| 332
D '43 HSGs-142-M7x1. 25 | 160 | 142 91 [HSG8-238-M7x1. 25 (256 | 238 139{HS68-334-7x1. 25 | 352] 334
44|Se8-144-MTaL. 25 | 162 | 144 92 [ HSG8-240-M7x1. 25 |258 | 240 140| HSG8-336-N7xL. 25 | 354] 336
45/HSG8-146-N11L. 25 | 164 | 146 93 | HSG8-242-MTx1. 25 (260 | 242 141| HSG8-338-N7x1. 25 | 356 338
46|TSG8-148-MML. 25 | 166 | 148 94| HSG8-244-H7x1. 25 |262 | 244 142/ HS68-340-HTx1. 25 | 358 340
4711’ SG8-150-NTsL . 25 | 168 | 150 95| HSG8-246-M7x1. 25 | 264 | 246 143| HSG8-342-M7x1. 25 | 360 342
48| SCE-152-MNL. 25 [ 170 152 96 [ HSG8-248-M7x1. 25 |266 | 248 144{ HSG8-344-M7x1. 25 | 362] 2344
i L ’ 2 3 |



https://v3.camscanner.com/user/download

= 9 | 5 | 6
Rieg 53 HRE
5 A T L2 g W% ’L{lwg g B8 f[.{l’“QLZ
145| HSGB-346-M7x1. 25 | 364| 346 155| HSG8-366-7x1. 25 | 384 366 165| HS08-386-U7x1. 25 | 404| 386
146] HSG8-348-M7x1. 25 | 366/ 348 156/ H568-363-M7x1. 25 | 386| 368 166{ 1568-388-W7x1. 25 | 406 388
147| HSG8-350-M7x1. 25 | 368| 350 157| H5G8-370-M7x1. 25 | 388| 370 167| HS68-390-¥7x1. 25 | 408| 390
148/ HSG8-352-M7x1. 25 | 370| 352 158| HSG8-372-7x1. 25 | 390 372 168 Hscs-392-47x1. 25 | 410] 392f A
149| HSG8-354-M7x1. 25 | 372| 354 159| HSG68-374-M7x1. 25 | 392| 374 169 Hs68-394-¥7x1. 25 | 412] 394
150( HSG8-356-M7x1. 25 | 374| 356 160| HSG8-376-M7x1. 25 | 394| 376 170[ HS8-396-UTx1. 25 | 414| 396
151{HSG8-358-M7x1. 25 | 376 358 161 HSG8-378-M7x1. 25 | 396 378 171|scs-308-47x1. 25 | 416] 398
152{ HSG8-360-M7x1. 25 | 378 360 162 115G8-380-47x1. 25 | 398| 380 172| Hsc8-400-¥7x1. 25 | 418 400
153| HSG8-362-M7x1. 25 | 380| 362 163 HSG8-382-M7x1, 25 | 400| 382 173| HG8-402-47x1. 25 | 420] 402
154| HSG8-364-M7x1. 25 | 382| 364 164| HSG8-384-M7x1, 25 | 402 384 174| HSG8-404-YU7x1. 25 | 422| 404
R RoLIL2+18
K-S “HSG8-XH-HTxL. 25 it “Xux”
B
| 3.2 i
¥ iy %%:V/
‘ AU HRL sl AZ8Yy o g
i & s o w o 10ld
! 3 ) — \< i
5 6 2 @ ss =
. 1345/ me
| : 6.8 12 $0.1 .27 &
L1 +0.15 RRTRAERER
—— C
N
! i" N
] = i
R REEE
>| < £ m c
T §0.5 3| +0.05] +0.1] +o2
' 3 £0.05| 0.
L EEFRREEEA, TRt W, FA. Rt
BTl SBERI; A BT
2. REPULE, B EREHERHV0. 1>430; AR IE T i‘l‘%
3 BEITRAZ LA FES T RREAE; &l el S i L
4 RERTAZR AL TR
5%AR¢%E§%&FL + 1000{ 2000 | +0.5 | £1.2] 43
R H +1° ° 1ero |
6. REEME (BRE) FE10-15um (£HHH) ; *&}f&iﬁ _lcm 11134—1( =
&% ¥ . k 3
TERWRA RS (CB/T30512-2014 WERAMRER) M. RS @305 | p
FIEEA R(0. 3-0.5)
VEIEHT #H REtE K& |
1‘:{;}"; & (HSG8-xxx-M7x1. 25i@ F ) 454 )
: REFH B & M %
3 |
702(),./‘5 BE #RER I ‘E ) %) W1
oy 1. ) JK ﬁimﬂﬁlﬁ$$’-¥ﬂ1#7ﬁlﬁz\ﬁl
T 5 'Y

|

=00 oo


https://v3.camscanner.com/user/download

